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Abstract
high-speed network. X CP is a transport-layer protocol that performs congestion control using explicit feedback from routers.

An XCP (eXplicit Control Protocol) has been proposed as an efficient transport protocol for a wide-area and

Severa performance evaluations of X CP have been performed. Robustness of X CP for dynamic traffic, however, has not been
well investigated. In this paper, through simulation experiments, we first show that XCP has several flaws against dynamic
traffic: (1) When the number of active XCP flows is changing, X CP can not fully utilize the bottleneck link, and (2) when the
background traffic (e.g., TCP or UDP) is dynamic, XCP fails to stabilize its control. We then propose XCP-BCM (XCP with
Buffer Control Mechanism) that improves robustness of XCP for dynamic traffic. Through simulation experiment, we show
that XCP-BCM achieves high performance even with dynamic traffic.

Key words XCP (eXplicit Control Protocal), Congestion Control, Transport Protocol, Robustness
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